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General Instructions:

1. All questions are compulsory.

> The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

EUS-31 [ SECTION-A
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Question numbers 1 to 4 carry one mark each

1 AR 37 .47 1332 & Fifa
Find the product 32 .42 AhB2
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FEUE p(x) = —5x — 2 T I T Hifew |
Find the zero of the polynomial p(x) = — 5y 2,

= H 2 a1\ 9@ w5t

In figure find the measure of ~ a.

x- 381 W ot g =1 y - Frdnes = gy 2

What is the y - coordinate of any point on the x - axis ?

EUS-F / SECTION-B
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Question numbers 5 to 10 carry two marks each.

(I3 +2% 4 33]_”2%111?31?{%@

o yv=3/2
Find the value of : (l] + 2+ 33) 4
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If Jr2+i2 =38, find the value of [x = EJ.
X X

ﬁm“FﬂWﬁﬁ]EfﬁHﬂABcff,ﬂﬁAB=AC3ﬂIAPiBC’§‘.ﬁTﬁTEEFﬂﬁI‘E{ﬁEP=PC 2l

In an isosceles triangle ABC, if AB=AC and AP | BC, then prove that BP=PC.
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In figure, if AC=BD, show that AB=CD. State the Euclid’s postulate/axiom used for the
same.
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Two sides of a triangle are 32 m and 40 m and its perimeter is 96 m. Find the area of the
triangle.

10 WWWfaZaﬁP{—l.D}:Q{U,l}aﬁﬁR(Z,B}#aﬁﬁﬂﬁﬁﬁmaﬂtﬁlﬁaﬂﬁqﬁﬁm% 2

1 7 |
Plot the points P(—1, 0), Q(0, 1) and R(2, 3) on the graph paper and check whether they are
collinear or not.

TUsS-H [ SECTION-C

w9 G 11 8§ 20 T UEE 3HF T

Question numbers 11 to 20 carry three marks each.

11 - 3
ety Pl it ot ZEE - TV a7 Bbb
745 745
Determine a and 1::l,i|‘-:}—:‘::__-—"‘r“‘lfi5 - ;::‘E = a+?\‘r§b.
12 J&ﬁﬁla@n’c@mﬁﬁﬁﬂﬁm1 3

Represent J93 on the number line.

Page 3 of 9



14

15

16

aﬁqﬁqﬁmﬁﬁﬁﬁ@ﬂiiﬂm

y are two positive real n

g w4y

umbers such that X2 +4y?

=4uai‘ﬂxy=a%rcrax+zyﬂﬂﬁiﬁﬁ 3

—40 and xy=6 then find the value of

if x and
X+ 2y
quﬁ@'ﬁa’fﬁm::11Lxﬁwyl—smw}Lzu~11-15{1x—1}2 3
Factorise : 12 (k2 +7)2—8 (x2+7) (2x— 1)—15(2x— 1)2
g | gacmﬂwcqnmﬂﬁmnanc 3
B D
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A €
In the given figure, /B <A and /C <D show that AD < BC.
407801 (i) £EDG (1) ,AQD @@ (i) £OPY

figa 1 AB|ICD 7 DE||PF

1 I
‘F

A
In figure AD

Q B
ICD and DE||PF. I £ AP

(iii) £DPF.

17
Hitad |
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afe ZAPF= soeaar£CDG=

F=50° and ZCDG=

40° find (i) ZEDG (i) £AQD and
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In the figure, if [||m and n is a transversal such that 28 : £5=13: 5, find all the angles.
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X
g FF;-E}H:?J_ —_— — IT1
K/J :
18 st H, AB||CD, ZAPQ = 357 it LORD = 135° ¥1 ZPOR i RIS . 2
A P B
fp—————— =
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In the figure, AB||CD, ZAPQ = 35° and £ZQRD = 135°, Find ZPOR.

A o ]:__ _].j_
e _35.;{”
Q¢
135°
it — R . M
2 14 D

19 wmﬁﬁqmﬂgﬁmcn%@wﬁmwmmwmﬁaﬂ’immaﬂusm 3
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Find the area of the shaded region in the rhombus ABCD of the adjoining figure, when its
diagonals are of lengths 20 m and 48 m. Also, find its perimeter.

20 wﬁwwﬁ%w@amcm%aﬁtwﬁuwﬁﬁaﬁmaﬁ:ﬁl WA FTEmE 3
THF] SEE T S|

The perimeter of a triangular garden is 900 cm and  its sides are in the ratio
3:5:4. Using Heron's formula, find the area of the ground.

HUS-T [/ SECTION-D
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Question numbers 21 to 31 carry four marks each.

21 [ fEfae: J5+2 ¥6 + 4/8-2/15. 4
Bvaliate: J5r206 +8=215.

="

22 1 2
A x=4- Jﬁ%.ﬁ(:ﬁ;] 1 HA 1 FIT

\
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fx=4-— Jﬁ,ﬁnd the value of [x+ ;W o

UFES FHY A T gY, 2L fF (a+b).(b+c) AN (c+a), TR (a+b+c)—(@>+b’ +c)

¥F oFEs §

Using factor theorem, show that (a+b)(b+c) and (c+a) are factors of

(a+b+c}3—{33+b3+c3].

pzw@—&fﬁumﬁaa%ﬁm

Expand (—2x+5y— 3z)",

aﬁﬁwqﬁﬁzm.a‘gﬁw+m+3x+1aﬂx—1%mﬂﬁmaﬂxmammaﬁ

It |

Divide the polynomial 3x4 +4x%+3x +1by x—1 and find quotient and remainder.

oTEE FRT ;2 - 61 + 3K +3x- 2.

4
TR Dx = 6 3K B =2

ﬁﬁq@ﬁﬁuﬁﬁwﬁ%@mwﬁmﬁ@ﬁﬁmﬂhaﬁnmmﬁn IGF B

fop vl 1 wei e T ?

7 fa §, APQR T gmﬁfmamnqﬁmﬂ:sﬂrﬁmw%n
/SPR=135° &, T £PRQ 1A FITT |

qfe /PQT=110° T

F Y



To protect poor people from cold weather, Ram Lal has given his land to make a Shelter home for
them. What value is being exhibited by him ? :

In the given fig, sides QP and RQ of APQR are produced to point § and T respectively. If £PQT=110°
and ZSPR= 135" find £PRQ

28 fe9 9 ABCD @& = & Wl EF faol BD & wwict ¥1 4fs EM =FM &, @ fog wifew fin 4
()  DF=BE,
(i)  AM, ZBAD I Gafgwfed =t €
D A
F
M
C E B
[n given figure, ABCD is a square and EF is parallel to diagonal BD. If EM=FEM, prove that
() DF=BE,

(ii) AM bisects #BAD,

29 afk € v e i FE €, o e s e vidifire S e e §) 4

If two lines intersect each other, then prove that the vertically opposite angles are equal.

30 fRuTe e A AB R CD %o 9gys ABCD #1 9@l 911 3 w2 e ¥ fag=ifn fza >2C 4
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In the given figure AB and CD are respectively the smallest and the largest sides of the

quadrilateral ABCD, prove that ZA >2C and #B >.D.

ABCD T <4 & fors # AD=BC M91.DAB = /CBA # %1 fir st #f ey 7rn 2
fag =ifem .

()  AABD=ABAC

(i) BD=AC
(i) ZABD=/BAC
o D
B
C

ABCD is a quadrilateral in which AD =BC and #/DAB = <CBA as shown in figure, Prove that

()  AABD=ABAC
(i) BD=AC
(i) ' ZABD=/BAC



